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QUESTION 1

For all Linux environments, how many Fibre Channel initiator ports are supported on a single host? 

A. 16 

B. 8 

C. 12 

D. 24 

Correct Answer: A 

 

 

QUESTION 2

How many bits are in the default self-signed certificate RSA keys? 

A. 2048 

B. 700 

C. 1024 

D. 4096 

Correct Answer: A 

 

 

QUESTION 3

An administrator has been tasked with mapping all users from corp to their own directory in /Userdata. Which is the
correct format for the homedirfile configuration? 

A. corp;/userdata:* 

B. *:corp;/userdata 

C. corp:*:/userdata 

D. *./userdata:corp 

Correct Answer: C 

Explanation: 
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QUESTION 4

A company experienced a network issue with one of its switches. This resulted in the users\\' inability to access their
home directory on the VNX for File. 

Why did the VNX fail to bring up the services on the standby Data Mover since it is connected to a different network
switch that was not affected? 

A. Network problems do not trigger Data Mover failover. 

B. The failover relationship was not set up correctly between the primary and secondary Data Movers. 

C. A hardware configuration mismatch prevented the secondary Data Mover to take over the responsibilities. 

D. The primary Data Mover could not notify the secondary Data Mover to take over the responsibilities. 

Correct Answer: A 
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QUESTION 5

How does a VNX splitter treat incoming writes to a production volume protected by RecoverPoint/SE CRR? 

A. Sends one copy to the original target and another copy to the RPA 

B. Creates a snapshot of the volume and copies changes to the target 

C. Sends a copy of the changes only to the original target 

D. Mirrors all writes between the existing RPAs 

Correct Answer: A 
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